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General Instructions:

1. The paper has 14 questions.
2. All questions are compulsory.
3. Section A- Question number 1 to 2 are one-mark source based questions. The
answer to these questions should not exceed 10-15 words.
4. Section B- Question number 3 to 9 are two-marks questions. These are very
short answer type questions. The answer to these questions should not
exceed 30 words.



5. Section C- Question number 10-12 are four-marks questions. These are short
answer type questions. The answer to these questions should not exceed 80
words.

6. Section D- Question number 13 and 14 are six-marks questions. These are long
answer type questions. The answer to these questions should not exceed 200
words

s’ (Section: A)

1. §¥e sf3ar Fusit 3 a1 7 frfeer emweT A(sRa #1) aaer A S =@ ar i
FaTfaed 3 3dsh & Rram i ghawm o aex 78 wfda w0 § & Raew
few arw & a7 FeTe 79t 1 oA T F AT agRTTE I

(G -- AT 1979:114)
9 AT F IR W At f@d 72 &1 3cax fod--

fafeer arae & THT g T9t 1 SA1ET BrIeT A (1)

“The substitutes offered by the East India Company and subsequently by the
British government were land ownership and facilities for education in English.
The facts that the first remained unconnected with agricultural productivity
and the second with the mainstream of Indian cultural traditions amply show
that the alternatives were not sufficient in the sense that they could not create
any genuine middle class.”

(Source —Mukherjee 1979:114)
On the basis of this source, answer the following question-
Which class got more benefit during British rule?

2. &9 12 WA 1 37 A AWAT UIeT Tgoid W@ A Afdpa A 38 frarfarah st
TarerdY favafaaraa & Remw Adseic i Rt 3 ¥ ik $+f whs
TgeTcll § 3R Fealersh! 3Te Yg I Se9l §T aTel TGAT ST o911 ¢ | 57 A
#RT & $1orer GoAe e §, e 3R el Reeelt givea & wiw o
Tl THE e B (1)

(@Y -3 AST
&edT,1999)
3 W1 & ITUR I 39 5 TR F G s IRaede & aR F @A77 87



“We, for instance, had worn the mekela-chadar from the age of twelve. But
now my daughter Kingkini, a student of Business Management at Gauhati
University wears pant and buggy shirts. And Kallol likes to sport a mass of
unruly hair on his head. When | feel listening to a Meera-Bhajan, Kallol and
Kingkini choose to play their favourite pop numbers by Whitney Houston.”

(Source — Anamika Dutt, 1999)
What type of cultural change can be inferred based on this source?

st (Section: B)
3. “IfOFdHA AT SerEEar F v F AHfawr F1 vFaATT Ageaqet @ an
|TereT §1 AT areior R F 7€ 1 a5 @ A frarper § S R 3k
artor Sfiaer # Agg & fore § 3R ametor s & e i e F AT &1

39YFT HTeDe H YR W Awafaf@a geat & 3o ford---
(2)
A. TTHYOT ITSHIHT T FAET AT FATE 2

B. 3TTq  @er HT¥ F 3ramar AR e Fle § F197 F¢ 32

“Agriculture is the single most important source of livelihood for the majority
of the rural population. But the rural is not just agriculture. Many activities that
support agriculture and village life are also sources of livelihood for people in
rural India.”

A. What is the main means of rural livelihood?

B. What work do people do other than agriculture in the village?

4. g1 HA Hel & RO TawT TR, JeaTE AR Eana SRy Fural STel aga @
IrEdr Fufarat R Fier FeX §, g IR Teaust F oft v goa 1 g7y
g fear g, 3R 30 & gerer o 130K wfr-ue it At Fa § v et A
fre[ grererE A oY Srar @1 @gFT IRARS F oA @ qw g, s
itgAnfEIor & FROT R F a1 S g1 (2)
3 ITedq & YR T Arafaf@a yeat & seav fod---

A. g1l AR W F Goa F THT H qEaTd 6 FROT & g3
B. $H TG F TR I 3T HRAT TRAR sqa€ T # v TR & qeea 1
HTHT L &2



“As a result of these working hours, in places like Bengaluru, Hyderabad and
Gurugram, where many IT firms or call centres are located, shops and restaurants
have also changed their opening hours, and are open late. If both husband and
wife work, then children have to be put in creches. The joint family, which was
supposed to have disappeared with industrialisation, seems to have re-emerged.”

A. What is the reason for the change in the opening hours of shops and
restaurants?
B. Based on this passage, what kind of change do you see in the Indian family
system?

5. §SdTel W HIHIRI Y et FHEATT T WTHAT FIAT ISdT &2 3ETEI0T & 1T
gufeT # (2)

What are the problems faced by workers due to strike? Elaborate with an
example.

6. AATHY Sger FT fahaT STaT oT? (2)
Why were ‘Benami’ transfers done?
7. 3T3SIT HTHT T §HAR FATST I FAT TG I8T? (2)
What is the impact of English language on our society?
8. FiY 9T 3menfe & cAeRT & e ford (2)
AYar

Yaars wur # fraTe it AT e gwr g 2
Name two harvest festivals celebrated in India.

OR
What is the nature of role of farmer in Ryotwari System?

9. FHTHIRI W IHOF F1H FIA & A0 Fag TR A v (2)
What are the main ways of making workers produce more?
G| (Section: C)
10. HEHTAHIOT T AR fhaat &Y 2 FEH AT T HRAT FATST T F41
CEICREN (4)

Who has given the concept of Sanskritisation? What is the impact of
Sanskritisation on Indian Society?



11. “8TRA H 90% & HT&F w1 °1e 98 FN, 3T ryar At g srgarfea ar
rsttaaTRes & & 3 17 (4)
3YYF T F IR W A i@ geat w1 3caw fad—

TSI &1 FT ST BIET &1 T TATTOTH HIROT F4T &7
AYdar
FIH 91 & fFeT-fet el Y o fFaat qanT sraerma simar 82
“In India, over 90% of the work, whether it is in agriculture, industry or service

is in the unorganised or informal sector.”

On the basis of the above statement, answer the following questions-

A. What is the social reason for the small size of the organized sector?
Or

B. What are the methods of getting work adopted by the individuals?

1z.mﬁsvmaiaﬁmaﬁr3ﬁtﬁi#uﬁa¢§c?mﬁmmma;m
IICE L (4)

When and where did the new peasant movement start? Write the characteristics
of the new peasant movement.
gz a (Section-D)

13. R FIfa & 31T F1 GHASIA §? &R Hifa HT HRAT FATST R IS arel
TFRICHS UF AFRIcHS THTT Y SITEIT H (6)
AYdr

AT aE A A IR T F e R IRAT NI E I sHFUT A
HTATIATcHS SATEAT FI
What do you understand by the Green Revolution? Give a detailed account of
the positive and negative effects it has had on Indian society.
OR
‘In rural areas, there is a complex relationship between caste and class.’
Critically evaluate this statement.
14. QTATTSTS ST ¥ 3T FIT AHSA & ? FTHTToT HTeYelsT F T&T0TY T goT< Hl (6)
What do you understand by social movement? Describe the characteristics
of social movement.



